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A simple example of the destruction (bullet AKM). Y
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The solid elements of the bullets are covered with

triangular contact elements.
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The velocity of the bullet is defined as an initial velocity

before impacting the plate. X
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Controls : il fHH # Material : #4EHTE Nodes : i 15 # Elements : Z#1{F i

Constraints : #HE#H  Loads : faf B Trackers : BB H
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Length : K& mm: I U A—FL

Time : FFfH] ms : UM

Mass : H& Kg:%¥m/ 72
Force : /7 KN:¥o=—a— ko

Pressure : JE/] GPa : XU /XAH)  ZHUIHIPESIRE OBALE L THiEbild
Velocity : 3 m, s : fhulisk A — hL

Density : #E MKg /1 {KfE1 U v Y72 OBEEMK g

Energy : #i& ] : V=2—/b

Gravity : /) 9.8 1e-3

BA/1A27 Y7 : Bullet. AKM.in
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Test Solid Iso 4 for parametr FAILURE STRESS.

The stress at which the material fractures.
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If an element reaches this stress, it will be removed from the simulation.

CONTROLS
AT O IS 4
run from 0.0 to 0.0195

(FRHTIRERT 0,075 0.0195 L UM E TR 21D 5, B THERMIEMW L CTARLZEIC/RD L 1LE D)
print every 0.0005 step

(FEprfi Rz 0.0005 S UM T LICH AT D, ERROBEIX. 40 AT v 7320 5)

MATERIALS OF TYPE Elastoplastic
MR OB O E IR < MBI ONER T A

Steel MR - 8

E = 200 Y UtR%: 200 GPa
RHO = 0.0000078 B 0.0000078 MKg/1
NU = 0.3 ATV 0.3

YIELD STRESS = 0.33 BefRISTIEE © 0.33 GPa
EP = 0.1 FRIRIZMIME : 0.1 GPa
FAILURE STRESS = 0.8 HAEIST) 0.8 GPa

MATERTIALS OF TYPE Elastoplastic
B T D bR 1 260

Lead B - AL (8R)

E = 13.78882 YU %$k 0 13.78 gpa (D 153D 1)

RHO = 0.00001134 B 2 0.00001134 MKg/1

NU = 0.425000 A7V 0.425

YIELD STRESS = 0.008962733 [RIG/E 1 0.008962733 GPa  (HlD 37430 1)
EP = 0.001 BEARTERIPE - 0.001 cra (B> 10043 1)

CONSTRAINTS OF TYPE Boundary Condition
[ RO PR O E 15 3
MOVE_X IR DA TR : MOVE X




VX = [0,-700,0.0001,-700,0.0002,0FF,100,OFF]

VY = [0, 0,0.0001, 0,0.0002,0FF,100,0FF]

vz = [0, 0,0.0001, 0,0.0002,0FF,100,0FF]

HEVICALTRELTEY, XYZD3ODOHFMTENENEET D, TNEIL. FE L HE DRI
BhERITATEY, ZOFETIE, BALS — X FH~ETHEOL T, BENRESND,
BREZIE, KA OO E 700mTBEIL, K% 0.0001 S UM LHHHE 700mTEBEIL, K
0.0002 IZBWTOFF & LTHEIEL, &#&D 100 L UM TY OFF TEIET D, (CEHORRE)

NODES

G )
(/—R11537ETHHAEZER L, XFH~OBENZ RS MOVE X & LTRET H)
1 X =17.0 Y = 0.0 Z =0.0 Constraint = MOVE X

2 X = 10.0 Y = 0.0 Z =0.0 Constraint = MOVE X

36 X = 3.0 Y = -1.7074 Z = 0.0 Constraint = MOVE X

37 X = 3.0 Y = -1.2073 Z =1.2073 Constraint = MOVE X
(/—FK38051282FTHHREMHEKT D)

38 X = 0.5 Y = 0.0 z = -12.0

39 X = 0.5 Y = -4.1307373 Z = -11.233864

1281 X = -0.31069946 Y = -3.3654327 Z = -6.3948517

1282 X = -0.22306061 Y = -7.4925003 7z = -4.268257

ELEMENTS OF TYPE Contact Triangle

Bzfil = IR L L COEEER
(EHE 1706 5 6 DNHILZ AT 2 Hefil = A TE2EHR)

1 nodes = [6,7,14] T = 2.0 FACTOR = 200 FRICTION = 0.01

2 nodes = [7,15,14] T = 2.0 FACTOR = 200 FRICTION = 0.01

55 nodes = [36,37,5] T = 2.0 FACTOR = 200 FRICTION = 0.01

56 nodes = [37,30,5] T = 2.0 FACTOR = 200 FRICTION = 0.01

2WIED =ML LT, UTOHFRICE D EETD

nodes = [37,30,5]  =AED 3 >OIHLOH REF

T =2.0 PR EFOE S : 2.0 mm

FACTOR = 200 J— FDEET 5RO OMFE 200 T, /— FBAFEICHBL T &

HRIZHICHINT %
FRICTION = 0.01 FEBRER 0.01 T, BRI L o TRZR LM, W@H1L0.2~0.8 ZRE

ZOGEITITIFFITNSWVEEE LTRET D



ELEMENTS OF TYPE Solid_Iso_4
4 EithT A V"5 A R v 7 BRE LTOEHRTEH
(BEHF 730105456 20HREHERT S 4 HISARER)

73 nodes = [276,989,262,991] Material = Steel NIP = 1

74 nodes = [1012,664,46,409] Material = Steel NIP = 1

4561 nodes = [1245,959,1086,1187] Material = Steel NIP = 1
4562 nodes = [838,839,1091,1239] Material = Steel NIP = 1
BWIED AHAEERL LT, UTOFRICEV EERT D

nodes = [838,839,1091,1239] 4 HERD 4 SOTER O R

Material = Steel FROMEHEE : Steel #

NIP = 1 BT IR 1

ELEMENTS OF TYPE Solid_Iso_6
(6 kT A V35 A R v 7 BRE LTOEHRTER
(BHES 71D 7 2B HIEERRT D 6 mIRARER

57 nodes = [6,7,8,1,14,15,106,2] NIP = 8 Material = Lead
58 nodes = [8,9,10,1,16,17,18, 2] NIP = 8 Material = Lead
71 nodes = [34,35,36,4,5,5,5,5] NIP = 8 Material = Lead
72 nodes = [36,37,30,4,5,5,5,5] NIP = 8 Material = Lead
BWITD 6 HAREFR L LT, UTOFRICL D ERT D

nodes = [36,37,30,4,5,5,5,5] 6 R 8 DDIE R D RE

NIP = 8 R RE 8

Material = Lead BEROMEHESE : Lead $4



